A10353 | 27/ TNIL/S/K

Fos) b
=N

-P.
b—pD—

b—D—

(e]

N4

D
v

ik —/&%E (FDP) A DIREXIL/N K

@A TXA—H— LN ENEDPELEBHZENHNET, TEBELES L,

@SUS304%,

@mEI—F A10353 RXFUTNL/NAVF B4 (mm)
P 5 | L ARE LN A%
DAL | vax [mamsz 1 | c |BETME o e F | A2

0019 40 63 20| 25| M6X25 | 45 | 20 | 6 | 200
0023 50 75~ 76 | 20| 25 | M6X25 | 45 | 20 | 6 150
0038 65 91~ 92 | 20 | 256 | M 6X25 | 45 | 20 | 6 120
0042 75 104~105 | 20 | 25 | M 6X25 | 45 | 20 | 6 100
0057 100 131~132 | 20 | 25 | M 6X25 | 45 | 20 | 6 100
0061 125 158~159 | 3.0 | 32 | M10X35 | 55 | 27 | 8

0076 150 185~187 | 3.0 | 32 | M10x35 | 55 | 27 | 8

ik —E%E (FDP) A DIRFERIL/N> K,

@A TA—H—ILLNENENPREBZENHNET, TEELLEZS,

BRERD > LW,
@mBEI— KN A14207 TNFi/NVF B 457 (mm)

g o mrercs SR A

It | ez (mawsE ¢ | o (RN D | PR G
0095 25 45 20| 25 | M6%Xx25 | 45 | 20 | 6 200
0108 30 51 20| 25 | M6%X25 | 45 | 20 | 6 200
0019 40 60~ 61 |23 | 25 | M6X25 | 45 | 20 | 6 200
0023 50 73 23|25 | M6%x25 | 45 | 20 | 6 150
0038 65 89 23125 | M6%x25 | 45 | 20 | 6 120
0042 75 102 23|25 | M6%Xx25 | 45 | 20 | 6 100
0057 100 128~129 | 23| 25 | M 6X25 | 45 | 20 | 6 100
0061 125 155~156 | 3.2 | 32 | M10x30 | 60 | 27 | 8 60
0076 150 183 32|32 | MI0X30 | 60 | 27 | 8 50

itk ZE % (FDP) A DIEHERIL/N > K,

@M TA—H—ICENENERPREBBEDPHNET, TFB 2SN,

@SUS3048,

@mEI—F A16001 XFUTNFiL/NVF B (mm)
FAR T PN B
218 | ez (mawsE ¢ | o (MM D | P F G

0013 40 60~ 61 | 20| 25 | M 6%X25 | 45 | 20 | 6 | 200
0028 50 73 20| 25| M6X25 | 45 | 20 | 6 150
0032 65 89 20| 25 | M6x25 | 45| 20 | 6 120
0047 75 102 20| 25 | M 6X25 | 45 | 20 | 6 100
0051 100 128~129 | 20| 25 | M 6X25 | 45 | 20 | 6 100
0066 125 155~156 | 3.0 | 32 | M10X35 | 60 | 27 | 8 60
0085 150 183 3.0 | 32 | M10X35 | 60 | 27 | 8 50
itk — & (FOP) DXL/ K,
QEESENRERME I BRATEET,
BEREND > LT,

@mEI—F A10337 #XTNIZNVF B4 (nm)
P14 X o || smavvma FEfFARIL b A%
I | ez (mamsm| ¢ | o TN D | P F |

0015 40 61-63-65 | 1.6 | 26 | M 620 | 45 | 20 | 6 120
0020 50 73-75-77 |16 | 25 | M 6X20 | 45 | 20 | 6 100
0034 65 89-91-93 |16 | 256 | M 6X20 | 45 | 20 | 6 70
0049 75 |102-104-106| 1.6 | 25 | M 6x20 | 45 | 20 | 6 60
0053 100 |129-131-133| 1.6 | 25 | M 6X20 | 45 | 20 | 6 40
0068 125 |155-158-161| 2.0 | 32 | M10x30 | 60 | 30 | 8 20
0072 150 |182-185-188| 2.0 | 32 | M10x30 | 60 | 30 | 8 15

Ph¥oFI5

L
fic
=
&
g

o FL




